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QUESTION 1

Which three types of content can you optimize using a page speed profile? (Choose three.)
A. Streaming

B. Image

C.Css

D. Video

Correct Answer: ACD

QUESTION 2

An administrator has learned that some of the corporate web servers were exploited using SQL injection attacks. What
should the administrator do to verify their web servers are not susceptible to the exploits?

A. Configure WVS

B. Configure a database health check
C. Configure DNSSEC

D. Configure SSLi

Correct Answer: A

QUESTION 3

Which are two advantages of TCP multiplexing? (Choose two.)

A. it reduces the number of TCP sessions that the server

B. it allows FortiADC to balance a client TCP connection among multiple servers

C. A new client connection does not need to wait for a new FortiADC-to-server connection
D. It reduces the number of TCP sessions that clients need to establish

Correct Answer: AB

QUESTION 4

A web administrator wants to configure a new virtual server to deliver HTTP content to end users.
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Which three components are mandatory to accomplish this? (Choose three.)
A. Load balancing method

B. Real server pool

C. Server persistence

D. Health check

E. Application profile

Correct Answer: ABE

QUESTION 5

An administrator wants to implement load balancing persistence by configuring FortiADC to prefix the server ID to an
existing cookie sent by the back-end servers. Which persistence method should the administrator use?

A. Hash cookie
B. Insert cookie
C. Persistence cookie
D. Embedded cookie

Correct Answer: D
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